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5.3 Concurrent Lines, Medians, and Altitudes
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Thearem 5-8

The perpendicolar bisectors of the sides of a triangle are

Theorem 5-7

The hisectors of the angles of a t’mngle: are
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The lines that contain the attitudes of a triangie are M

Definitions:
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Example 1

Finding the Circumcenter Find the center of the cirele that 1y3
circumseribes AXTYZ, .

15 Tt
Because X has coordinates| {{ ,] } and ¥ has ) :

r [ | . - o ﬁ
eoordinates LAY lies on the vertical line x = III % \
The perpendicular bisector of XY is the horizontal line that {4 . A )
passes through (i]..l—"é"—z} or 20 the Y Y

[ equation of the perpendicular bisector of XY is v = I_q:]
: T
Because X has coordinates and Z has Q . 4 :

coordinates ,W lies on the horizontal line

y= ID The perpendicular bisector of X2 is the vertical line that

passes through ( 6-%}- l!' ‘:.‘..x)tr L 50 the equation
of the perpendicular bisector of XZ 15 x = .

Draw the lines y = @ andx = E They intersect at the poht
' . This point is the center of the circle that
circumscribes AXYZ. -

Exémple 2

Finding Lengths of Medians M is the centreld of AWOR and WM =16, W
Find WX,

. Thf.fg‘ androeh - ) is the point of coneurrency of the mediang

of a triangle.

The'medians of a triangle are concurrent at a point that is ' 0
| LI _ | the distance from each vertex to the midpoint
‘of the cEposite side. (Theorem 3-8) :
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Exampie 3

Find the center of the ciicle that yvou can

circumsgeribe about the triangle with

vertices (0, 0), (—8, 0), and (0, &), 5 p

(-4,3) ==




